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= 1,070,347 1,495,000 N424.653
(= 288,170 402,500 A114,330
= 288,170 402,500 A114,330
10 A SXAIEHE2HH B X 1,646,687 2,300,000 653,313
O ggot2g2 I
ZH 1,646,687,0002 * 14 1,646,687 2,300,000 653,313
= 1,070,347 1,495,000 N424.,653
(= 288, 170 402,500 ~114,330
= 288,170 402,500 A114,330
2I0I1E 29XIA(2 107,200 112,980 ~5,780
=2 53,600 56,490 A2,890
(= 26,800 28,245 A 1,445
= 26,800 28,245 A 1,445




A JIEY=L
g Ex3X5d
=t 5SS (SH &)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
307 212t01H 107,200 112,980 25,780
= 53,600 56,490 2,890
< 26,800 28,245 1,445
i 26,800 28,245 1,445
10 AlRIZXAIEHE2FHIEx 107,200 112,980 25,780
O &2
Z& 69,600,000& * 1M 69,600 75,380 25,780
= 34,800 37,690 22,890
< 17,400 18,845 21,445
i 17,400 18,845 1,445
O2lold 2Z XA (<Hl) 286,619 360,467 AT73,848
[ 73,818 92,180 18,362
o 212,801 268,287 A\55,486
307 212t01H 286,619 360,467 A\T73,848
< 73,818 92,180 18,362
o 212,801 268,287 A\55,486
10 Al SXAIEEHER2FHIE X 286,619 360,467 NT73,848
O S3EHE0ld X2l elAdl K&
2 02 37,863 A37,863
< 11,359 211,359
i 26,504 N26,504
O oelold =el&d o124 X
54,999,000& » 1A 54,999 54,999
[ 16,500 16,500
o 38,49 38,49
O gI2b- JIEUe0ld £el@ elddl K&
ZE 02 0 15,144 AN15,144
< 4,543 24,543
i 10,601 210,601
O gI2E-JIENel0ld S22 IHHEE2 X
= 23 02 0 75,840 AT5,840
[ 0 18,960 18,960
o 0 56,880 156,880
BEUANIA HRME XA(EX) 431,640 465,842 N34,202
= 215,820 232,920 217,100
[ 107,910 116,461 A\8,551
o 107,910 116,461 28,551
307 212t01H 431,640 465,842 N34,202
= 215,820 232,920 17,100
== 107,910 116,461 8,551
= 107,910 116,461 A\8,551
AR EXAIEE R 431,640 465,842 A34,202
O €4 Al K&
28 280,000,000 * 14! 280,000 290,819 10,819
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=SS
25=3XNsd
25358

SA - BB - SRAGEH) - NS - BES il v ol o HlDE2
2 140,000 145,400 5,409
= 70,000 72,705 12,706
2 70,000 72,705 12,706
O DAIZE 2% X2l
2T 5,640,0008 * 14 5,640 4,500 1,140
2 2,820 2,250 570
= 1,410 1,125 285
2 1,410 1,125 285
O sZ2|uA SEaRLY
2T 146,000,008 * 110 146,000 170,523 £24,523
= 73,000 8,261 A12,261
= 36,500 42,631 £6,131
2 36,500 42,631 6,131
BSDANY MM KR (XHH) 95,000 91,000 4,000
307 21201 A 95,000 91,000 4,000
11 ABIZ XA 2 E 95,000 91,000 4,000
O AN 0fR01F RHY DSH X
2T 64,000,008 * 1110 64,000 60,000 4,000
OIS A2l DHE (S HI) 1,088,477 1,681,416 A53P,939
= 1,088,477 1,631,416 A5%,939
301 LR 1,088,477 1,681,416 A592,939
= 1,088,477 1,681,416 592,939
02 MBIEHEAHS(HAHS, L) 1,088,477 1,681,416 159,939
O Feld 282 S XY
2T 1,085,463,0008) * 1404 1,035,463 1,681,416 646,953
= 1,035,463 1,681,416 645,953
O 34Kl Sl 7,962,008 * 112 17,962 0 17,962
= 17,962 0 17,962
O 54l Sl 35,052,000 * 1144 35,052 0 35,052
= 35,052 0 35,052
AR 25 X2 200,000 250,000 50,000
=2 100,000 125,000 25,000
= 50,000 62,500 A 12,500
= 50,000 62,500 A 12,500
307 21201 A 200,000 250,000 50,000
= 100,000 125,000 25,000
= 50,000 62,500 A12,500
2 50,000 62,500 A12,500
D ENEEEEETEES 200,000 250,000 50,000
O ARHH 25 X2
2T 200,000,008 * 140 200,000 250,000 50,000
= 100,000 25,000 225,000
= 50,000 62,500 A 12,500
2 50,000 62,500 A 12,500




SN JIES=
Ha: OIS=XST
o9l OlS=XIZE
SN - BE - SA(B) - NRAY - BES 0 & ol o
NEEWET 5,772,015 5,588,876
2 1,634,192 1,633,982
2 749,371 722,184
| 25,200 13,440
= 93, 168 91,569
2 2,427,084 2,297,681
NEEVESS 3,267,150 3,178,176
2 1,634,192 1,633,982
2 30,704 30,704
| 25,200 13,440
= 536,975 538,892
2 1,040,079 %1158
OIS =XIAHS 51,600 41,600
307 212H01 50,000 40,000
04 DIZHHALAI 2 50,000 40,000
O HEol20l 2B L olSYBOIY
2% 50,000,000 * 14] 50,000 40,000
SEESTESE 36,000 19,200
| 25,200 13,440
= 3,240 1,728
2 7,560 4,03
301 YErEFI 3,000 19,200
| 25,200 13,440
= 3,240 1,728
2 7,560 4,08
IEEEEES EIEREES ) 3,000 19,200
O YY0IS Y84Y X8
2% 200,008 * 158 * 128l 3,000 19,200
| 25,200 18,440
= 3,240 1,728
= 7,560 4,08
EEEE N EREPIEET 49,908 42,93
308 XHXISHAISOI = 49,908 42,93
07 KA SRS 49,903 42,930
O ¥ 423 04S2s ¥ 29
A7 49,908,008 * 14] 49,903 42,93
HASEOIS RN At 8,220 116,780
= 9,978 13,434
2 72,242 103,346
301 YBrEFEZ 8,220 116,780
= 9,978 13,434
2 72,242 08,346
2 ABl 2R E A S(HAHS, NLH) 82,220 116,780




FA S-S
33 ors=Asd
(s B0 == NS (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
O HE9g ¥5223
38 340,000& = 18 = 123 73,440 108,000 A\34,560
< 7,344 10,800 N3,456
= 66,096 97,200 231,104
CHEH =3 Atg 75,000 0 75,000
401 AlEHIL 20| 55,000 0 55,000
01 AlI&ZHI 55,000 0 55,000
O UEN ssdie 21228
50,000,000& * 14 50,000 0 50,000
O CrE e &Y
5,000,000& * 14 5,000 5,000
405 KHoHF S| 20,000 20,000
01 AL =S F SHI 20,000 20,000
O CIEH sS4H JIXH £ HIE=2tl
20,000,0008 = 14| 20,000 0 20,000
FAHE OlsSEAHIA N (ISESHERY) 52,843 38,380 14,463
= 30,704 30,704 0
< 2,303 2,303 0
= 19,836 5,373 14,463
101 1A 45,843 33,380 12,463
z 26,704 26,704 0
< 2,003 2,003 0
[ 17,136 4,673 12,463
M IRtMZZ2S e 45,843 33,380 12,463
O 4280 22E3(RHAMFIH)
300,000 = 18 * 8HE 2,400 0 2,400
O OISESHE RS (MHHFIHE)
400,000 = 14 * 8HE 3,200 0 3,200
O OISESHE SAHI(MMFIIE)
150,0008 * 198 « 8IHE 1,200 0 1,200
O OISESHEY nsSHI(MHHFIIZ)
50,0002 = 18 * 83 400 0 400
O OtSESMERY I (XHMZ=II2)
2,280,0008 * 50% * 32 3,420 0 3,420
O OlSEsdEY HEFIHMI(AHMFIHE
) 2,280,0008 * 60% » 12 1,368 0 1,368
O OISESHEd HII2HHI(RHHFIH
) 94,8802 * 18 * 5 475 0 475
202 04t 3,000 1,000 2,000
= 800 800 0
< 60 60 0
= 2,140 140 2,000
01 2LHO L] 3,000 1,000 2,000
O orsEsdE2d HHI(XHHMFIH)
2,000,000& * 14 2,000 2,000
JAEX s Ots THEAE At 300 0 300
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33 ots=sAsd
el OlE=EXSsd (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
= 210 0 210
< 27 0 27
i 63 0 63
301 LEENS 300 0 300
= 210 0 210
< 27 0 27
= 63 0 63
01 Al EE AT S (2 RDEXA) 300 0 300
O ZANEXS Ots KEXZ(HEZA
0003 * 14| 300 0 300
= 210 0 210
< 27 0 27
= 63 0 63
AEotsHH =g 2,414,865 2,320,700 94,165
= 673,667 646,480 27,187
< 334,493 367,997 16,49%
= 1,356,705 1,306,223 50,482
AS0tsHE 249H| & 292,812 282,812 10,000
z 108,406 108,406 0
< 2,522 32,522 0
= 151,884 141,884 10,000
307 2Itold 292,812 282,812 10,000
= 108,406 108,406 0
[ 32,522 32,522 0
T 151,884 141,884 10,000
04 DIZFHAIAIZ 2= 10,000 0 10,000
O XEotsHlE HEs 288 st
10,000,000 * 14 10,000 0 10,000
OtsSSXILAL It X 233, 160 248,148 A 14,988
= 107,461 17,274 19,813
[ 32,238 35,181 02,943
= 93,461 95,693 N2,232
101 QI24H| 217,720 232,708 A 14,988
= 101,241 111,054 19,813
(= 30,372 33,315 12,943
= 86,107 88,339 N2,232
03 SRA(RIH L) 222+ 91,594 82,832 8,762
O XEotsHlE Ots=XnA 29 91,594 82,832 8,762
* 50 dF 2,249,780 » 38 + 128 80,993 72,231 8,762
= 40,49%6 36,116 4,380
[ 12,149 10,834 1,315
T 28,348 25,281 3,067
M IRMZZ2HS e 126,126 149,876 N23,750




SM S-S
g ols=Asd
chel: XS otsHeH2g (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
O XYotsHH OtSSXIMAHOI2EM) IHA
JE 1,124,9058 « 998 « 128 121,490 149,876 128,386
= 60,745 74,933 A14,198
< 18,223 22,481 N4,258
= 42,522 52,457 N9,935
O SH(XHFIHE)
386,260 ~ 1 » 1238 4,636 0 4,636
NSAOtsSHE SAL SE4¢ 53,280 50,040 3,240
= 9,072 8,100 972
= 44,208 41,940 2,268
307 212t01 & 53,280 50,040 3,240
< 9,072 8,100 972
= 44,208 41,940 2,268
10 AISNAIEHIE 22X 53,280 50,040 3,240
O NS0ISHE SAHL S8+8
Z& 90,0008 » 289 « 122 30,240 27,000 3,240
< 9,072 8,100 972
z 21,168 18,900 2,268
NSotsSHE Zoie X 20,000 0 20,000
= 6,000 0 6,000
i 14,000 0 14,000
402 2I2FXH=01A 20,000 0 20,000
=S 6,000 0 6,000
= 14,000 0 14,000
02 QIINEASEEZ(0IETHE) 20,000 0 20,000
O XN<otsHE e X
20,000,000& = 14| 20,000 0 20,000
< 6,000 0 6,000
i 14,000 0 14,000
KSOtSHIE SAHA QI2A4H] 28 ~E 67,200 60,000 7,200
= 20,160 18,000 2,160
= 47,040 42,000 5,040
307 2I2+0IH 67,200 60,000 7,200
= 20,160 18,000 2,160
= 47,040 42,000 5,040
10 AISTAIEHE2HHEX 67,200 60,000 7,200
O XE0tsSHE SALAF 2124H] 28
d& 200,000& 28" « 122 67,200 60,000 7,200
L= 20,160 18,000 2,160
z 47,040 42,000 5,040
KSOotsSHIE SAHAF QI24H] X1 930,000 856,000 74,000
z 441,000 404,000 37,000
< 132,300 121,200 11,100
= 356,700 330,800 25,900
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=aak

SA - BB SRA(B) - NRAY - B2 il v ol ® o HimE=T
307 212t01& 930,000 856,000 74,000
s 441,000 404,000 37,000
S 132,300 121,200 11,100
s 356,700 330,800 25,900
10 MEISXAIEHE2IHIEX 930,000 856,000 74,000
O XNY0tsHH SAHL 212H] I~
Z& 882,000,000& * 14! 882,000 808,000 74,000
s 441,000 404,000 37,000
S 132,300 121,200 11,100
s 308,700 282,800 25,900
XS otsHdE SHIXA 298] (BX) 51,082 56,369 Nb,287
= 7,662 8,455 AT93
i 43,420 47,914 A4, 44
307 212t01 & 51,082 56,369 Nb,287
== 7,662 8,455 AT93
= 43,420 47,914 N4,494
10 AlRISXAIEEHE 22X 51,082 56,369 Nb,287
O XNH0rsHlH SHIAM 228l XA
2 386,980 * 1100 « 12042 51,082 56,369 Nb,287
= 7,662 8,455 AT3
i 43,420 47,914 VAV eT)
X ESEAEE K& 390,911 398,591 A7,680
s 182,451 182,451 0
& 22,900 25,204 22,304
ik 185,560 190,936 Ab,376
o CEAEE X 390,911 398,591 A7,680
= 182,451 182,451 0
= 22,900 25,204 22,304
[ias 185,560 190,936 Ab,376
FAHE OISSEAUIA X2(SHAEIE) 314,966 314,966 0
s 182,451 182,451 0
S 13,684 13,684 0
= 118,831 118,831 0
201 ZEeH23 ] 72,580 32,580 40,000
s 58,064 26,064 32,000
= 4,355 1,955 2,400
= 10, 161 4,561 5,600
01 ArR2eltl 58,280 18,280 40,000
O &M, 2IXl, SN Z208 2AlsZ(=H
&) 4,000,000& = 10& 40,000 0 40,000
s 32,000 0 32,000
== 2,400 0 2,400
= 5,600 0 5,600
301 Et2E = 36,340 76,340 240,000




S JEHED
Hu: 1% CAEE N

Selr XS SHARE XY (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
fas 29,072 61,072 A32,000
< 2,180 4,580 A2,400
= 5,088 10,688 5,600
“IE2 8= 0 40,000 40,000
O A, X, BN Z208 ZA2(SH
3) 38 03 0 40,000 40,000
= 0 32,000 A32,000
= 0 2,400 22,400
= 0 5,600 5,600
FHANE OtsSEMHIA X (KHA) 45,225 45,225 0
201 B2l 12,825 1,625 11,200
01 AlR2telHl 12,825 1,625 11,200
O EEAERE 00l =0122Xs =22
T8 AE(SHE)
70,0002 * 4% » 243 » 10042 11,200 0 11,200
301 LetE2NZ 32,400 43,600 A11,200
B2 ds 0 11,200 A11,200
O EZAERE F0HOtS =01Z24X8 22
08 2A=EH(S83E) 38 0 0 11,200 A11,200
BIS =8 HAE RFAY 30,720 38,400 AT7,680
< 9,216 11,520 N2,304
= 21,504 26,880 5,376
307 el2+old 30,720 38,400 A7,680
< 9,216 11,520 N2,304
= 21,504 26,880 5,376
02 LB AL E X 30,720 38,400 A7,680
O BIISDNAEANY K&
& 30,720,0008 * 14 30,720 38,400 AT7,680
< 9,216 11,520 A2,304
= 21,504 26,880 5,376
WLeS(0/dIEM) 1,400,029 0 1,400,029
FSONE 1,400,029 0 1,400,029
SXRAY e 1,400,029 0 1,400,029
802 gtet=0IE 1,400,029 0 1,400,029
01 2NEXSEHES 1,066,527 0 1,056,527
O 20228 EFuAMEA QlAHl =H| 0|kt
g 952,000 952 0 952
O 202148 AIRIMESXIAAIY =H] LM0| X
gt 26,0002 26 0 26
O 202248 IR0IE|Z 2H| LHOIXt gy
6,981,000& 6,981 0 6,981
O 20198 EKNAJAQHH|(1H0IH2 R E|
AAYZ) = YR g
2,724,000 2,724 0 2,724




SN JEs=D
HH: HRES(01AIISD
Sa . (EH9): ®2)
SA - B - G9I(30) - NIRAY - BES Ofl b ol & o SimE==t
O 20202 2 RAAAANAY| (1H0/2 22 A&
NMYZ) 2| FYRY Prt
7,131,000 7,131 7,131
O 221 SSRILAAY| (120|222 K&l
HHEZ) 2| FHRY v
2,724,000 2,724 2,724
O 2022 THHIRAF XIRAR (120222 Rel
X=eiZ) 20| DY v
37,0002 37 37
O 22 AIZHESURAIY 26| Eamo
ket 5,391,000 5,391 5,391
O 2022 CHEIRAH KIRIAIS =] Rgzrey
et 4,373,002 4,373 4,373
O 20221 CARIDAF XIRARR =] 201X
ket 27,0002 27 27
O 2022 OfRI0IE 2EXY =] Dszry
ket 1,618,002 1,618 1,618
O 202 BRREY HLHM 24| DawY
et 2,540,000 2,540 2,540
O 20221 FO+SRIR 24| HBAH Bie
20,089,0002 20,089 20,089
O 2022 Qot=gXIE 26| LMOIX Bhat
524,0002 524 504
O 20221 JIHYRAL 24| BT Biet
32,284, 0002 2,284 .28
O 20223 IIHYSEY =] LHOIX BHet
162,000 162 162
O 20204 012 OIZIOIREEAIY 2| FYT
o 139,0002 139 139
O 2022 22DLIEIYE 24| ZBFY Pt
470,002 470 470
O AT JIZATTRAIY 2| Fazoy
ket 178,602, 000 178,602 178,602
O 20221 SHEQ SEH0f STAFOIA
HBIA 2] Zazioy 14,696, 0002 14,69 14,696
O 221 SH=Q SEH0j STAFLIY
MBI~ 2HI0I% 502,0002 502 502
O 221 CAYESEAHIAAY 26T
zhol 250,595, 0002 250,525 250,525
O 2021 CAYESENUIAAY 20T
oy 378,583,0002 378,583 378,583
O 221 LOINBSBAHHIAAY 2H| 2
01X whet 3,386,000 3,386 3,386
O 2 LOYESSHHIANG 2| 2
01Xt et 10,524, 000 10,524 10,524
O 202 OlS4gXe 2CH| s
5,740,000 5,740 5,740
O 20221 OFSLETANIAIY 2CHI T
ahos 63,601,000 63,601 63,601




2A: JEE
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O 2020E D2UHY AFLXH Z2 Xl 28] &
o XoH iy 75,0002 75 75
O 2022 B2LHI AFL X FIXIH 24| &
MOIR} BHe 47,0004 47 47
O 02E F2AY 2234 Al 2| 3
Trol by 042,000 1,042 1,042
O 2021E OISESHEQANLITHIT BT
o4 20,452,0002 20,452 20,452
O 201 LA0IS IEXRAIG BT T
ko 55,0002 525 525
O 02E OISESHEQRAUANY 2THEH
ko 2,731,000& 2,731 2,731
O 02 E5Z20ts NP 4E XA 2
SHIE ST 9,592,000 9,59 9,59
O 20224 JIEIE0tE A2EE 2 EHIT
& Rk o 877,0002 877 877
O 20223 OFSSXLAF I X 2T
ko 15,0002 15 15
O 200 H2 ditery] & 2| XA
o 2H| MBEH B 156,0002 156 156
O oo A2 Wke] & 22| XA
o =H| LMOIX} B 2,0002 2 2
O 20028 HAE XTA BHXIXI 20| &3
Trol Hhf 5,920,000 5,920 5,920
O 2022 HAE XSA BHXIXIZ 24| 01X
ghe 203,0002 203 203
O 2022E &t 9 AW XY (ME 29) =2
DEXZ DAY gy 411,000 411 411
O 2022 &t 8 H4AW XNR(SAXY) =21
CES=PURIE, 20,0002 20 20
O 0228 E HAHYNSOIC0 2SI
2NSXZ YT B 1,0002 1 1
O 022EE HAHYNSOIE0 2SN
RNEEZ 01X By 778,0002 778 778
O 20228 HEHAE MR2I2E NRAAIY 2D
EXZ HTH g 6,834,000 6.834 6,834
O 202 HEHAE MR2I2E XAIY 20
EX3 0IX e 82,0002 82 82
O 2023 M (HAHASEXHE) 27
2 2X32 2HI0IXF g 441,000 441 441
O 2020 HAHMSSXHE 2SR (HL
HSEI Z20%) 202X3 oY Bt
2,438,000 2,438 2,438
O 2020E FAHMGSXHE SHXR(HL
ESEH Z203) 2NLX2 01X e
201,0002 201 201
O 202E +AlE 2H9I2E 2DEX2 0
X e 13,0002 13 13
R Al - SHEZ38HEE 343,502 343,502
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JEES
HRas(0giHEm)
EFSPNE

A -3 - A4A(3H) - MRAY - BES Of] koK J| & o Hus2
O 2218 USAIHUASSHIZXAA ]|
Z) 81 XtoH 2,916,000 2,916 2,916
O 20214 A0tS IIEXAIY 2EH|ESH
XtoH 68,0002 68 68
O 2022 ASAIE UABSHIE KA E
H| &34 Xk oH 1,458,000 1,458 1,458
O 2024 OI=EESMEQRAAY 2EH &S
ZroH 205,000 205 205
O 202E B5ZE20ts AN2HEZ LAY
T H| & 8t &roH 9,000,000 9,000 9,000
O 20224 JIEQIEOLS MK AFY SHIE
4 &k ol 6,753,000 6,753 6,753
O 20224 JIEQEIS ASHEEE 2CHIE
84 &k oH 113,000& 113 113
O 2001 KSOlSHE IHIXRAAY SHIZ
84 &k oH 1,752,000 1,752 1,752
O 2001 XISOLSHE KHHIXIKAFY SHI0]
K hAH oH 7,000 7 7
O 2022 KISOtSHIE KAl KA SHIE
84 &k oH 2,935,000 2,935 2,935
O 2022 KISHOISHE K XA SHIO|
K AH oK 98,0002 %8 %8
O 20224 BAICIZIZRYE AFY SH| Z S XHoH
872,0002 872 872
O 2020 A0HH LOIR5| SEHXNNE2 ©
Hl ZeHEoH Bh 20,293,000 20,293 20,293
O 202 A2 29| KA TH| 2
OIXF BHt 61,0002 61 61
O 202H H2Y Ast@sog JoHxd cy
ZlsHXroH it 5,796,000 5,7% 5,7%
O 20224 LOI=XIAIL K2 ZH| ZSEH
Bt 3,612,000 3,612 3,612
O 20224 A2 AIM X2 TH| ZISHRIOH BHLt
30,831,000 30,831 30,831
O 2022 2 £=3|T208 AlZ22lX bl
XIS SH| A0 Xt Bt 2,000 2 2
O 2020E HRY Wiy o 24| XA
S TH| RSHEH Bt 47,0002 a7 47
O 2022 H2g WLtghy] L 2k2H| XA
o CH| ZAOIR BHt 1,0002 1 1
O 2024 BSDAA HRIHM TH| &EHxoH
Bt 1,271,000 1,271 1,271
O 20224 O{2I01& 29X TH| XA
Bt 809,000 809 809
O 2022 CHHIWAF XIR AR CH| & 84 &koH
gt 2,113,000 2,113 2,113
O 2020 H2Iof2l0l& SASHHIXY SH| &
SHRIOH Bt 90,0002 PO <)
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SN JtES=D
X RS (01IIED)
g7l =dlE (Er9:&e)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
O 2020& 01 O{RI0IA SHEAY SH| A3
&l 70,0002 70 0 70
O 024 2BSE20IS Mg+ NAAY &
bl &g oy 719,000 719 0 719
O 202U OFSSXIMAF I KR AlCHIEa
ol 4,00024 4 0 4
BHSAHH OISH= D) 165,303 159,320 5,983
ol eyl 76,447 70,464 5,983
ol 2 AH OIS =D 76,447 70,464 5,983
101 Q124 76,447 70,464 5,983
RS 74,3% 68,413 5,983
O znaesY 74,3% 68,413 5,983
* 62
2H 12,848 * 62 * BAIZ + 122 3,367 31,579 788
* 73
B 11,6008 * 621 * 3512t + 122 29,238 28,524 714
* 82
B 10,4162 * 201 * BAIRF * 128 8,750 4,269 4,481




